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1. How many ways are there to select four (
people from a group of nine people, C — AR
without regard to order? M\ ~—r Cn_ ‘_) 1 I
A 36 B 262144
C 126 D 3024
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2. What is the total number of subsets of a set
of 10 elements?

A 1024 B 1023 C 100 D 20
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3. Using Pascal’s method, what is .C, + .C}?
A C B .C Cc .G D .C. =
a1 g4 a5 75 ncr ’l—f\Cr’f‘l f\"'\C(—"—l
= >Cz 3>+

= 8¢ ==R

4. What is the number of arrangements of
three red and two green blocks?

A% B 3!x2! n<A> _ ~ |

C 5! D% F'/ﬁ"l
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= /S‘( Total 4
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5. In how many ways could a 6-member
committee be formed from a 16-member
club, if the president and secretary must be
on the committee?

< torvy esE
Seleck Pasidert Seardocs
e ore lefe mesdics & rrore mrencbes from

= 4 Cq = ool e

6. You found seven library books that you
would like to take out, but the maximum
is four. In how many ways could you select
the four books?
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7. How many quadrilaterals
can be formed from the
vertices of an octagon?

S verhces o o~ SIEEC

— 8C¢ = 70 guaddl

8. How many permutations are there of the
letters in the word RELATIONS, if the
vowels must be in alphabetical order?
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9. a) How are ,C, and P, related?

b) Explain this relationship. Include an
example to support your explanation.
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10. Two balls are selected from a bag with five
white and nine black balls. What is the

probability that both balls are black? = cIRe
— A block
~n(A) = w2 e i Aol
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11. What is the coefficient of p*4® in the
expansion of (p + ¢)'"?

ezl |57 fern onld be 5Cs

15. Mario orders a pizza with 3 toppings,
chosen from 15 available toppings.

a) In how many ways could mushrooms or
olives be included in his toppings?

09 n(qmaﬁemen@ =153
n(,\jo olives o mwl\(?vow‘)

b) Would the result in part a) be greater or
less if he orders 4 toppings? Explain.
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16. A package of 50 computer chips contains 45 a) neither is defective?
that are perfect and 5 that are defective. If b) both are defective?
2 chips are selected at random, what is the . .
probability that ¢) only one is defective?
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17. The tens, jacks, queens, kings, and aces are
removed from a standard deck of cards.
From these cards, four are chosen. What is

the probability that ¢) two are face cards?
a) all are queens? d) thereis at least one ace?
b) all are red? e) there are at least one ace and one king?
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17. The tens, jacks, queens, kings, and aces are
removed from a standard deck of cards.
From these cards, four are chosen. What is
the probability that

a) all are queens?

b) all are red?

= P(Z fo= c;:de) = 2C2%x8%2
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c) two are face cards?
d) there is at least one ace?
e) there are at least one ace and one king?
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17. The tens, jacks, queens, kings, and aces are
removed from a standard deck of cards.
From these cards, four are chosen. What is

the probability that
a) all are queens?
b) all are red?

n(A) = 20Ty (chese « from22)

c) two are face cards?
d) there is at least one ace?
e) there are at least one ace and one king?

e) Use irdicecE refheR
n(r\o O\C€_> = 4 Co < (64
n (no kirg) = ¢Cs <6<« ;f“,,o\d_m
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